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UNIT 7 LESSON 3
DO NOW

1. Simplify: (X 4>'<3)(x —% 2. Simplify: (4—y)(4 + Y)
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\S  Aim: How do we factor using the D.O.T.S method?

3. Identify the first T?perfect squares starting with 1
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4. ldentify the first 12 perfect variables.
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Any variable with an Q \/ Q,n exponent is a perfect square.
D '\ eran < How do I identify DOTS?
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Question Check
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Steps for Factoring D.O.T.S :
1) two perfect squares with subtraction sign (binomial)
2) “Double Bubble” with opposite signs ( + ) - )

3) Find square root of each term in order.

4) Check by Double Distributing (shortcut!) O TOLb U ( af M Q‘l‘% oL
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13. Which expression is equivalent tc%iZl -\;z? '
1) (x-11)@&x-11)

2) (x+1D)(x-11)
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\i))(ll (11 +z)

4) (11-x)(11-x)

14. Ann correctly factors an expression that is the

difference of two perfect squares, her factors could
be

1) @x+y)x-2y)
@ 2x+ 3y)(2x - 3y)
3) x-4)(x-4)

4) @-50-3)




GCF & DOTS Mixed!
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St Card.. Factor 49 - x%




